Al O]l & AF & & M A
201449 = =0l & Xt 22l SE3
g 200 Mel+=¢
2 210 ZHEAA+Y
g 216 Ol A== (Sl &&)
228 Off &4 & E 0l At Hr&E2
E5 Al 385,075 291,827 93,248
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216 Ol Xt==¢ 4,500 6,000 A 1,500
216-01 33030l K== 4,500 6,000 A 1,500
< BB MY > 4,500 6,000 A 1,500
OZ3U 30Xt 4,500,000& 4,500
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222 RY= 93,000 93,000 0
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< EFALY > 93,000 93,000 0
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224-01 ATt AE =g 4,000 4,000 0
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700 Ed+=USHUREANH 283,575 188,827 94,748
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711 A= 283,575 188,827 94,748
711-01 =MAHLAH=2 283,575 188,827 94,748
< SAA MY > 283,575 188,827 94,748
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